20255 (=FF) BR&GBUHBHITFREERE

R | FREMAAT 884 5 A BEaR msal | AR
B o ¥ B T it i A 10kV/5814 78 FA 1T 1] 2% 110KV 7w 55 A Lk 3723.9 793.62
B 1 R 3 B T 42 B A ] 10kV5817 i b A 1 [m] 2% 110kV 77 5 A2 HL i 8591 1079.1
=R RV B Tt e A & | 10kVS1148% fi e X 1 [ 2% 110KV [ 47 A2 HL ok 4763.1 2237.18
E o 4 B T it i A 10kV59044% % H 2% 35KV T~ fifi 22 Lo 3723.9 389.62
B 7k i oA 943 B T 3 i 2 ] 10kV5209b 4 1 [5] 110KV A FHATR AL H 3 6893.6 150.18
ST | R B A E A 10kV/55203 4 2% 110KV B2 A 2% HL 3897.1 427.73
B A 4 B T it A 10kV/5913H S 2k 35kV A7 A2 Hivh 3897.1 68.48
B X 43 B T 2L B A ] 10kV'5804 4 41k X IT £& 110KV 77 5% H A2 HL 6893.6 1582.28
=R ROV BTt A &) | 10kv5306 WL E i T-244% 110KV FH A2 HL il 2598.1 1757.33
=R W 3 BH T A 24 W 10kv5225 9L 2k 110KV A AHHF AL HL i 6893.6 2441.28
B WY P e A & | 10kV5821H i/ X T [k 110kV 77 5% H A2 HL 2598.1 2104.88
B X 48 B T 42 B A ] 10kV581574t 5 2% 110KV 75 5 H A2 HL i 3897.1 2539
B gk oA 55 B 7 it E 2 10kv5214]b A T 1l 110KV A FI AR H s 6893.6 690.18
B 7 1 X 8 B 11 42 F 2 ] 10kv59844#)7 th 2% 35KV FH 4 A2 HL 3723.9 772.02
2 7 1 WY PHTT L ARl | 10kv5809 Tk [X 242k 110KV 77 5 H A2 HL 6893.6 2518.03
5T R 948 B T A i 2 10kV59324k K £k 35KV I3 T i) AR FEL i 6893.6 2128.08
S| R B T E A 10kV5217 3C I ZR 7 2% 110KV A AT AZ L 3 6893.6 2643.28
BT X 48 B T 2 R 2 ] 10kV51047i] E 25 110kV [ 47 22 HL ol 4763.1 1379.55
ERe RIS BHTT AtE AR | 10kV511748 5 el X 2] 2% 110KV [ 47 A2 HL ok 4763.1 1981.23
5T A 3 B 7 4 2 5] 10kV/51037s i, 1T [ 26 110kV 47122 HL 4763.1 3096.03
ST | R vy B AL A 10kV521075 K 2% 110kV A R4S HL 3k 6893.6 610.98
B A 4 1 71 4t Fl 2 10kV51157A FE 11 [1] 25 110kV 47 22 HL Bl 4763.1 2069.43
ST | R vy B T A A 10kV59725K 5 25 ¢ 35kVIR P AR Hi st (U FHD 4763.1 180.38
B T o 4 ] T it i A 10kV5912 = JRA#LE 110KV UG A A2 H ik 2598.1 1467.98
B o o 5 T it E A 10kv7004L 4 2% 35kV IS AR HL ik 3723.9 1776.37
R A 53 B T it Fi 2 10kV55557 1E.2#4; 110kV A FE 48 HL vk 2598.1 1891.58
B o 4 B T it A 10kV'5983 /% FH 3 2% 35KV FH 3 AE L 3723.9 1141.2
B WY FHTT AL A &) | 10kV5106 4 5% el [X 2k 110kV [ 47 42 HL ok 2598.1 684.98
B gk A 55 BF 77 it E 2 10kV5822 3L i & 110KV 7w 55 FE AL HL ik 8591 3499.58




20255 (=FF) BR&GBUHBHITFREERE

R | PRELEAR Wk 2T A BEaR msal | AR
S | R 3 R T A A A 10kV K F 25227 110KV A FIH AR H s 3897.1 3583.28
ST | R vy B T E 2 10kV5909— SR 15 £ 35k V1l A L 3723.9 1707.47
BT | R 9 B T A E A A 10kV5110 I, 5 £k 110KV [ 47 A2 HL ok 3723.9 520.62
By | R vy A T 2 10kv5810 Tk /N [X 14% 110KV 77 5% H A2 HL 6893.6 849.03
Eger | R 3 R T A A A 10kV59635K 7 £& 2k 35kVIRTE AL RLuh (3R D 3723.9 1083.21
R | 9 %y B 7T A L2 10kV5914 % £k 35KV Ay AR HL 3897.1 53.28
ST | R vy B A A 10kV/5818 7 3 111 [] £& 110kV 77 5K AL HL gk 6893.6 2275.78
By | R vy B T 2 A 10kV'5205JfF 1 £& 110KV A FHHF A2 L 3 3897.1 1977.18
ST | R vy B AL A 10kV55143, K:3#2k 110kV B2 A A2 HL il 3723.9 2699.79
B | EM T At AR | 10kv5905H 5T LR 35KV 1 il A2 HL v 4763.1 389.58
S | EMFET A A | 10kv5121 1 FE 1T HIZk 110KV [ 47 A2 HL ok 2598.1 596.03
SRR | R vy A AL A A 10kV/5823 i Ml #7111 £& 110kV 77 5 AL Lk 8591 4508.3
Eger | R 3 B T A A A 10kV7012ii[ b 2k 35KV IS AR HL il 3723.9 760.66
ST | R vy B T A A 10kV/5542 5 v 1#2& 110kV ¥ 7642 HL 3l 3723.9 1492.52
Ege | R v EE T A A A 10kV59687% 2k 35kVIRPE AL R st (R D 6893.6 224.68
ST | R vy B AL A 10kV5918 44k 35KV A7 HEAZ HL U 4763.1 39.58
S | R 9 B T A R 10kV55347F 1E1#4¢ 110kV A5 ££ 38 HL vk 3723.9 892.18
ST | R vy B A A F 10kv7003 =R b4k 35KV IR AL HL vk 2598.1 295.38
B | R vy B T 2 A 10kV55182K 5% H: £k 110kV A4 28 L vl 3723.9 683.02
B | R vy B T 2 10k V59243 18 V[ £& 35KV I IE A A2 HL ol 3723.9 438.47
S | R vy B T A 4 10kV'5907 4 i 3 £k 35Kk V1 A HL 4763.1 65.38
BT | R 9 BE T A A A 10kV 5224753 £ 110kV A AN AL HL 3 6893.6 1187.68
Bk | R vy BE T A A A 10kV/512078 1[5 2% 110KV [ 47 A2 HL ok 3723.9 925.52
BT | R v B T A A A 10kV5556 F A 242k 110kV 75 /£ 42 HL il 3723.9 1491.57
S | R 3 B T A A A 10kV581674 Ff [ ]2k 110KV 7 55 FE AL Lk 2598.1 1729.28
Egen | R 9 B T A A 10kV555747 | 4% 110kV A FE 48 HL vk 2598.1 1239.68
Eery | R R T A A 10kV59493 1k3[A] 35kV 2 kA L 2598.1 2220.03
ST | R vy B AL A 10kV55137% 1 2% 110kV B A AR HL 6893.6 3172.55
B | R B T A A 7 10kV 51183 5 1 [9] £& 110KV [ 742 HL il 3723.9 1105.22




20255 (=FF) BR&GBUHBHITFREERE

R | PRELEAR Wk 2T A BEaR msal | AR
B o ¥ B T it i A 10kV5908 = JR 25 2% 35kV T fifi 3 L 3723.9 258.72
SR A 53 B T it Fi 2 10kV55153 K144 110kV A 48 B vk 3723.9 1854.02
=R o 4 B T it A 10kV5522%7 . 2k 110kV B A AR HL ok 6893.6 1121.88
B 2 1 A 943 1 T 3 Bl 2 ) 10kV5986 H T 2k 35KV BH 338 FL i 3723.9 1689.57
B gk A 155 B T it E 2 10kV 59663, 71 2k 35kVIRTE AL RLuh (3R D 6893.6 1164.28
ST | R B 4 A 10kV59254 5 [ 4k 35KV IS T A% HL 3723.9 251.32
ST | R vy B A A 10kV5207 4R KA 4% 110k V A FIHFAE FL ik 6893.6 2872.48
B 2 7 A 943 o T 3 Bl 2 ) 10kV511677 HEIV [7] £¢ 110KV [ 47 A2 HL ok 4763.1 1385.28
B gk A 55 B T it E 2 10kV 52264 2k 110KV A FIH AR H 6893.6 55.78
R | R %y B T A 2 10kV5948/MHZL 35kV & kAR L 3723.9 2149.41
B 28 A 53 B T it Fi 2 10kV554138 7 2k 110kV 75 1E A2 HL vk 3723.9 1187.62
B T o 4 B T it R A 10kV551 74 K244k 110kV 4 42 L ol 3723.9 634.02
B gk oA 55 B 7 it E 2 10kV5223% ¥ 2k 110KV A FI AR H s 6893.6 3862.37
B | ER T Ate A E | 10kv521878 KA 1T [H14; 110kV A A AL HL o 3723.9 3002.54
= A 153 H T it Fl, 2 ] 10kV5208L 4 1T ] 110KV A AR FL s 6893.6 718.18
B gk o V53 B 7 At E, 2 10kV59547F 1£3#4; 35kV 2 I A L 3723.9 2191.11
S| R B T E A 10kV5988 I, & b T2k 35KV I AR L 3723.9 889.42
B A 4 B T 8t A 10kV51027 50 T A1 2% 110kV [ 47 A2 HL ok 4763.1 2800.98
B X 43 B T 42 B A ] 10kV53077 il B 2k 110KV BH 4% 42 Hi ol 3897.1 2142.38
B gk A 55 B T it E 2 10kV 5205/ il 2k 110KV A FIHF AR H 3897.1 2240.18
B T R4 4 B T it A 10kV/ 59918 tff, 2] 2% 35KV FH AR AE HL v 4763.1 0.18
B A 4 B T 8t A 10kV5996# 71 2% 35KV FH A2 L 4763.1 0.18
ST | R vy B T A A 10kV59715 5 15 £k 35kVIR P AR Hi st (U FHD 3723.9 0.12
=R o 4 B 7 4k H, 2 10kV59643, X 6 5 £k 35kVIRPE AL HLwh (R D 8000 0.1
B gk A 155 BF T it E 2 10kV5805F I [X 12k 110KV 7 55 FE AL Lk 3897.1 0
BT |y B T A L2 10kV5967 ea#2k 35kV I PG AR HLEs (U RHD 3723.9 0
R A 55 B T it Hi, 2 10kV55433 b24k 110kV 75 1E 42 HL vk 4763.1 0
=R o 4 B T 4k H, 2 10kV/5989 %< FH 3 £& 35KV B4 L 3897.1 0
B o 4 5 7 it i A 10kV/ 59694, 55 £& 35kVIRTE AL R (U RHD 3723.9 0




20255 (=FF) BR&GBUHBHITFREERE

R | FREMAAT 884 5 A BEaR msal | AR
Sy | R v B T A 2 10kV5947 5 X 11 [] £k 35kV 2 AR L 4763.1 0
P P 3 BH T A4 L 22 10kV'5987 L & 7 T4k 35KV I AR L 3723.9 0
=R o 4 B T it A 10kV5916 | £k 35kV A7 232 B 3723.9 0
SR o 4 B T 4k H, 2 10kV5926%8 14k 35KV U 3 T AR HL 3k 2598.1 0
B 1 X 52 3 4 H A ] 10kV52041% % 2% 35KV I AR AR HL U 7794.2 507.26
R W A2 I EL it Bl 2 ] 10kV5821 R B 11 [m] £k 110KV FL I A8 HL il 10652.1 103.08
ST | PRSI B A 7 10kV5508 F K2k 110kV A T A2 Hi gl 10652.1 2634.66
B 0 22 3 L2 B A ] 10kv5718 %111 2% 110KV 73 PR A2 L ol 10652.1 3159.48
BT | R R L it e A 10kV55174 5 15 2k 110kV K T A2 HL il 10652.1 1140.08
R W A2 i EL it Fi 2 ] 10kv580773 ] I [H] £k 110KV 2 41 48 HL vk 5542.6 178.48
B o 52 3k Lt i A 10kV5941F £k 110KV A K 11 A2 HL 8833.5 736.8
B 1 X 22 3 L H A ] 10kV5127 & A 2% 110kV LAY 42 HL ok 10652.1 3905.78
B 7 P4 32 3 EL Ak Fh 2 ] 10kV59873d 7% £k 110KV FL % A2 HL v 10652.1 2726.03
B o 22 4k Lt A 10kV57163% 545 2% 110kV 2% ARAZ HL ok 8833.5 634.4
BT | A L A 10kV5866 & IH £k 110kV 7K Uit 5122 HL gk 6062.2 225.21
B | R ot E A 10kV5924 7K 3 fH2 5 24 110KV A7 {5 42 Hi i 10652.1 2676.58
SR I A8 3k L A3 Fh 2 ] 10kV5813%y 7] 11 [A] £k 110KV 2 £ 42 HL il 5542.6 319.98
57k 1 R A2 3k {3 H 2 ] 10kV5993t AH2#4kK 110kV FL % AL HL B 10652.1 2062.28
ERe R A2 i L it Hi 2 10kV55067K i £k 110kV K T A2 HL ok 10652.1 1494.78
B | R A L i e 2 10kV 57117 T % £& 110KV 7% PR A2 L ok 10652.1 3103.08
BT | R L it E A 10kV5712 [ i £k 110KV %% KA L 0k 10652.1 2938.58
57 I A2 3 L {3 i A 10kV5912 K& £k 110KV A7 f A2 HL vk 7794.2 1326.16
ER W A2 i L it H 2 10kV 52541 5 [ 2% 35KV H A L 7794.2 157.76
=R o 5 43 Lt H 2 10kV/5820H1 5 £k 110KV £ I AR HL ik 6062.2 4611.26
ST | A L H 2 10kV5979) £k 110KV FL % A% Hi i 10652.1 4092.83
BT | R A I LA A A 10kV59923 1 52k 110KV FL % 2% FL v 8833.5 3331.2
BT | A A A 7 10kV 5507 1 % £k 110kV K T A2 HL vk 10652.1 1653.18
5T R 22 3 LA N 10kV5813[d [X 1'5 £k 110kV R AR FL i 7794.2 3028.26
B 21 W 22 31 L 3k L 2 7 10kV5226 i £k 35KV R AZ L 6062.2 174.96




20255 (=FF) BR&GBUHBHITFREERE

R | PRELEAR Wk 2T A BEaR msal | AR
SR | A L H 2 10kV58077d [X 4#2k 110KV 8 A2 L ol 10652.1 411.28
ST | R A Lt E A 10kV5717 L £k 110KV %% PRAZ HL i 6062.2 2116.76
B | R A g L it e 2 10kV58337# 58 H: £k 35KV R I i A2 HL ol 3637.3 115.24
By | R A L i e N 10kV 5774 I 2% 35KV JE SR VA A Ll 7794.2 41.36
BT | R R L it e A 10kV5945(j J 1L £& 110KV R K L1 A2 HL 3 7794.2 91.26
BT | A Lt H A 10kV5855 it A 23 4 35KV I 1148 H il 3637.3 68.84
BT | R A L A 10kV5810[7 [X. IT £ 110KV HLJE AL HL vk 7794.2 1750.16
BT | RS Lt e A 10kV5991 7% Jif 5 2% 110kV FL 75 A2 HL vk 10652.1 2067.78
B | R A I Bt e A 10kV5876-F V4 £k 110kV 7K Ui 5122 HL il 7794.2 42.56
B | R A LA A 7 10kV5909%8 J-2#4k 110KV 7 538 HL il 10652.1 1016.98
BT | R A b LA A A 10kV5906 7 {5244 110kV £ {542 HL Bl 10652.1 362.38
Eger | R A I Bt A 10kV5874 1 Pk £k 110kV 7K Uit 5142 HL ik 7794.2 158.26
BT | R R L it e A 10kV5129 F AR IV | 25 110k V FEAY AL H il 10652.1 2765.88
B | R RS I Bt N A 10kV57891 JUJ V4 1425 110kV P4 A2 HL o 7794.2 94.96
BT | R R Lt e A 10kV5746 7 1815 2k 35kV P A 4 HL o 7794.2 436.86
B2 | R RS L A 10kV5786 R £ 142k 110KV 78 4 A% H i 6062.2 510.86
BRI A 4R L i v 2 10kV57254b A 2% 110KV %% bR AZ HL i 10652.1 2828.98
BT | R A Lt A 10kV55160H JE 2k 110kV K T A2 HL vk 10652.1 4047.38
BT | R A L A A 10kV 551341 5K H 2k 110kV K T A2 HL ok 10652.1 2305.58
BT | A L H A 10kV59163 7 11 £k 110KV 7 522 HL il 10652.1 2949.98
BT | R RS Lt H A 10kV5978:1d 5% 1T 2% 110kV L2 A8 HL vk 10652.1 4223.88
B | R A I B e A 10k V5834 5% [+ 2% 35KV AR IR AR HL ik 7794.2 155.76
BT | R R Lt A 10kV57247 2 2k 110KV Z3 A2 L ol 10652.1 918.08
BT | RS Lt e A 10kV5988 FL %% £k 110kV FL 75 A2 HL ok 10652.1 938.68
BT | R L it E A 10kV5792F5 V4 25 25 110KV PG 442 B ok 6062.2 3.16
BT | R A LA A 7 10kV57130% FE 2k 110k V 2% ARAR HL il 6062.2 1963.99
BT | R Lt A 10kV5255 T KA £& 35KV A L 3637.3 128.94
BT | R AT I LA H A 7 10kV5808l7 [X 3#£k 110KV £ I A2 HL il 10652.1 1760.88
BT | R A Bt H A 10kV52237% #5245 35KV R AZ L 10652.1 531.48




20255 (=FF) BR&GBUHBHITFREERE

R | FREMAAT 884 5 A BEaR msal | AR
E g W A2 I EL it B 2 ] 10kV5253H 2k 35kV AR HL 3637.3 26.44
o W A2 38k Lt i 2 10kV58264R 5 IV [m] £& 110KV 33 A8 L vk 10652.1 2151.98
BT | R A Lt A 10kV5743/K A 5115 2% 35kV P 1A 3 HL o 7794.2 46.36
E o 52 3 L it i A 10kV/5994 7 i £k 110kV BL 75 A2 HL ok 10652.1 2139.63
B 1 X 52 3 4 H A ] 10kV5518%2 5 H:2 5 2% 110kV K T A2 HL ok 10652.1 3109.98
B X 52 3 B4t R A ) 10kV5822 B 25 £ 110KV #3842 Hi 10652.1 1095.68
= IR 22 31 LA H 2 ] 10kV585643 3. £k 35k VAT 1148 F il 7794.2 138.96
B 25 W A% i L it H 2 ] 10kV5126 5 4R 1T ] 2k 110kV FE A 22 HL 3l 10652.1 3541.78
B e W4 A2 I EL it B 2 ] 10kV5908%& 1~ 1#4k 110KV f1 {538 HL ok 10652.1 2785.68
B 1 X 22 3 L4 R A ] 10kV5715%% JF 2% 110KV 2% PRAZ HL i 10652.1 583.18
B W0 22 3 L3t R A ] 10kV5775HE 2R 2% 35KV JE SR VA A Lk 7794.2 371.66
B 1 0 22 3 L2 B A ] 10kV5106 5 FE1#2k 110kV LAY 42 HL ok 10652.1 2363.68
S| R A Bt H A 10kV5107 5 244k 110KV B A A% HL i 10652.1 1089.98
SR | A L A 10kV5791 74 41 15 4 110kV P4 A2 HL o 10652.1 430.68
B W0 22 3 L A3t R A ] 10kV57093 <35 2k 110KV 75 A2 L 3l 10911.9 2699.97
E o 52 4 L it B A 10kV/5128 Z AR 11 2% 110kV S A AL HL il 10652.1 2516.98
BT ) 22 3 L A4 B 2 ) 10kV5942 L} 25 110KV Hif K L1 A L 3 8833.5 1090
B | R A Bt A 10kV5817 B 15 2% 110KV £ I 725 FL i 10652.1 1759.68
B 25 R A2 i L it Hi 2 10kV52053 [X 2 5 2k 35KV I A< A8 HL i 7794.2 2241.96
BT | A L H A 10kV/5983 % 5 £k 110KV FL 25748 H ik 8833.5 2866.8
B | R A I Bt e A A 10kV/5208775 I3 FH £& 35KV I AR AL HL U 8833.5 2050
S| RS Lk H 2 10kV58235% 5 FE 4 110KV £ I A8 HL il 10652.1 2931.48
B T R 22 4k Lt Fi 2 10kV5913 1 f £k 110kV £ {542 H1 gk 10652.1 2754.13
Bk | Rt H s 10kV5125 5 4 T 12k 110KV 5 A A2 H i 10652.1 0.08
B 1 X %2 3 B3t R A ] 10kV523051 FE 2% 35KV AL HL U 10652.1 0
R W A2 i L it Fi 2 ] 10kV/55097K A 111m] £ 110kV K T 48 HL vk 10652.1 0
R W A2 i L it Hi 2 10kV5825%R B 1111H] £k 110KV FRJE AL HL vk 10652.1 0
B 0 22 3 LA F A ] 10kV58124R & T [H]4; 110KV HR 38 48 L il 10652.1 0
=R o 22 4k Lt i 2 10kV5914 7K U3 FH £& 110KV f1 {548 HL ok 7794.2 0




20255 (=FF) BR&GBUHBHITFREERE

R | PRELEAR Wk 2T A BEaR msal | AR
E 1 X 52 3 B3t B A ] 10kV5225 FE 2% 35KV AL HL U 10652.1 0
SR W A2 I EL it Fi 2 ] 10kV57193 K 15 2k 110KV 4% KA L 0k 6062.2 0
B 0 22 3 L3t B A ] 10kV51195 5 E £k 110kV B Y 22 HL ol 10652.1 0
ERe W A2 i L it H 2 10kV52073 [X 15 2k 35KV IR A AR L 10652.1 0
B | R A R L i 4 10kV57203 K 2 5 £k 110KV %3 PR A2 L 3k 6062.2 0
B o 22 ik Lt A 10kV5783F 525 45 110KV 74 2% HL i 6062.2 0
B o 52 ik Lt E A 10kV5788 4 VA 1#2k 110kV P4t 22 H1 3l 6062.2 0
B | Rt E s 10kV5514 7 2% 110KV K T A% FL i 10652.1 0
BT | R R B A ] 10kV5084 K s Sk 35k V AL i A7 L 2771.3 645.64
R 4 J L it E A ] 10kV5527/=3z 1 [A]£% 7 B 120k VAE HL 3k 10652.1 155.28
=R W JR L it H 2 10kV5513 9 F1 2% W7 B 120k VAL H 3k 2771.3 1751.44
=R o i LAt E N ] 10kV512075 25 1 31 2k 110kV ZR A A2 HL il 10652.1 1317.48
B 7k i oA 1, LA A ] 10kV5221 jd AT £k 110k V3§ %248 H il 10652.1 2177.08
BT | [ R B A 10kV510635 M T [7] 110kV 7R A A2 HL ok 10652.1 1562.28
=R W J1 Lt H 2 10kV/52243 % 78] 2 110kV H7 2222 FL o 10652.1 54.18
B 1 R, L B 2 10kV51103 4 IT [ £ 110KV A< 22 HL 3k 10911.9 1562.37
B o P Lt B 10kV/51193 4 IV 1] £ 110KV ZR A A2 HL il 10652.1 3217.68
B | R A 10kV50915K 5 %5 35kV Fd 7 22 L v 2771.3 124.04
B | R R B A ] 10kV5092 J Sk 35KV AL [ie] A2 L 2598.1 266.08
B o P LA B N ] 10kV/5107:3, W4 111 2% 110KV ZR A A2 HL il 10652.1 3198.68
B 7k R i L it B A 10kV 507 1A 45 2 35KV AL L 10652.1 304.43
= RR] et EL {3t B ] 10kV52314 2 48 110kV H7 22 AL Lok 12124.4 1232.84
B R0 L i B N 10kV58233 5% H: £k 35KV AL HL gk 2771.3 276.04
B 1 X, L E 2 10kV5117 51 5% H £k 110KV A< 22 HL 3k 10652.1 1113.78
B 1 0 L i 0 10kV8106%% 5 - £k 110KV 4= 38 3 A8 1 il 2771.3 193.04
572 o) e, Lt FL A 10kV5528/= izt 11 [ 25 W] 110k VAR FE il 10652.1 26.98
BT | R A A 10kV5506 = 2% £k 1] 110k VAL Fi il 2771.3 81.04
B 1 X L i B N ] 10kV'5068 {4 2% 35KV S A L 7274.6 554.88
B 7k i oA 1, LA A ] 10kV 5070 2= 2§ 35KV AL L 2598.1 194.47




20255 (=FF) BR&GBUHBHITFREERE

R | FREMAAT 884 5 A BEaR msal | AR
B | R A A 10kV 50697k - I £k 35kV R AL L 3464.1 789.78
B | R A T 10kv5814%8% ) T ]2k 35KV RS H AL Bk 5369.4 0.02
B | R B A ] 10kV50667H] 145 35KV S AL L 10652.1 0
B | R e A 10kV55194k 7 2§ 6 B 110k V7S L 3 10652.1 0
B | R R A 10kV'50943F B 2% 35kV EIAZ ALk 3464.1 0
Bk | R A ] 10kV5096 T i 2% 35kV E AL H vk 5369.4 0
B | R L A 10kV5222°K B 2k 110kV #7 % A2 Hi gl 10652.1 0
By | R R A 10kV5118 |- 2% 110kV A< 22 HL 3l 10652.1 0
BT | R R A 10kv5104 | 2% 110KV ZR A A2 HL il 6148.8 0
B | R R A ] 10kV81084=iH i £k 110KV 438 i 22 L i 10652.1 0
BT | R B A ] 10kV5515 i - 2% e 7 110k VA FL 3 10652.1 0
B | R R B A ] 10kV5111 7 3R £k 110kV ZR A A2 HL il 5369.4 0
Bk | R R A 10kV5813%E 5 [ 4% 35KV G AR HL il 2771.3 0
BT | [ R B A 10kV51157R1A 2k 110kV 7R A A2 HL ok 4849.7 0
B | R R L A 10kV/52233 % 8] 2k 110KV 7 % A2 HL ol 12124.4 0
By | R R A ] 10kV5114+t 25 110KV A< 22 HL 3k 8313.8 0
B | R R B A 10kV 55160 X B IR 2k H: B 110k VAR L 3 10652.1 0
BT | RSk B A 7 10kV 585171 7K £k 35kV T~ i AL HL 3983.7 850.06
Egrm | E R Sk B A A 10kV5239H PHZk 110kV A K ZE AL Lok 7621 800.4
BT | RS KL A F 10kV5880% £ £k 35KV IS AR HL U 6408.6 487.98
S | RSk B A 10kV5879'% JHE 4% 35KV I I AL HL v 7621 479.75
B | RSk A 10kV51167 5 2k 110KV P4 56 A2 HL vl 7621 766.4
B | RSk B i e A 10kV'5205%# )i 25 110kV 1 2 98 A2 HL 7621 1633.2
Egr | R Sk B N A 10kV58527 i 2k 35kV T A2 B 5629.2 847.56
S | RSk B 4 10kV8515 [ Bt 22k 110KV 17 < £8 A2 HL i 7621 578.6
B | E RS K B A A 10kV88101k T./ "4k 35KV 7K I AR L 4503.3 794.74
B | E RSk B A A 10kV5887FA T HE) 2k 35KV Ik AL L 7621 2130
BT | RS K A A 10kV5604 £ 52 L1 2% 110KV Ji7 i A2 HL 7621 82.2
ST RS KL A 10kV5666: 1t £k 35kV 7R A% L 5629.2 1165.01




20255 (=FF) BR&GBUHBHITFREERE
R | PRELEAR Wk 2T A BEaR msal | AR

B T W S 7K EL it Ha 2 10kV58243 K 1 [A]£% 110kV Je R A2 HL ok 7621 2207
SR | RS K B A A 10kV5410 & 2% 110kV b 7K A% HL i 5629.2 600.76
B 7 W 27K L E A ] 10kV 5853 1H £k 35kV T 32 HL g 4503.3 8.84
E W S 7K EL it B A 10kV5506FF 4 T [H14k 110kV B AR HL 5629.2 1478.46
B | RS B A 7 10kV 571350 % 2k 35kV T Ml A2 F i 5629.2 975.96
= A S 7K B H A ] 10kV 81053 £k 110k V AU AR HL il 7621 693
B | RSk B A 7 10kV8417 51 ZX B £¢ 110KV ] == 4% H i 7621 912.2
B gk W S 7K BL it Ha 2 10kV5605 5 i 2 111 £ 110KV Jr Ji 42 i ok 5629.2 590.86
5 7k i A S 7K L H A ] 10kV5507F4 i 11 [|] 2 110kV B AR HL il 5629.2 584.36
= WA S 7K B H A ] 10kV552637 17 £k 110KV B AR HL il 5629.2 605.96
BT | RSOk B A A 10kV5714JT & 2 35KV I Al HL 5629.2 1202.96
R W S 7K EL it F 2\ ] 10kV579115 B 2k 35KV R A8 B 3377.5 147.9
B gk W S 7K BL it H A ] 10kV58263 % 11 [A] £k 110kV & S A8 HL il 7621 4107
= W S 7K EL it H A 7 10kVv5829-k X 2k 110kV Jg SR AR HL B 7621 3975
= o S 7K EL it H N ] 10kV 84101 24 2 110kV #2422 FL o 7621 954
B gk W S 7K BL At H 2\ ] 10kV 581514k 2k 110kV 8 SR A2 HL il 7621 2768
57k i R S 7K B H A ] 10kV8309°F. JL IT [7 £& 110k V AU AR HL il 7621 1864.8
BT W S 7K B F A ] 10kV56695 7t 25 35KV Iy AR AR HL 7621 1443.5
R W S 7K EL it F N ] 10kV5409-t & 2k 110kV I 7K AR FL 5629.2 911.76
B T W S 7K EL it He 2 10kV8106 77 51 2% 110kV AU AR HL il 7621 1839.6
B | E RSk B it A A 10kV54112% R 2k 110k Vb 7K A2 H il 5629.2 483.36
B | R Sk B A A 10kV5104F74 12k 110KV P4 56 A2 HL vl 7621 709.4
=R W S 7K B H 2 ] 10kV 8429 7R N £k 110KV ] =A% F iy 5629.2 1544.96
R WA S 7K L E A ] 10kV8404 I i 2§ 110kV #2428 HL 6581.8 1675.84
B o S 7K EL it F 2 10kV510575 4 T 0] £k 110KV 74 5 48 H il 7621 1539.2
B 2 W S 7K BL it H 2 7 10kV5238'H 5 2k 110kV 1 5 F8 AL HL v 7621 614.4
R W S 7K A H A ] 10kV8407 K % £ 110kV i = A8 Bk 7621 1594
=R W S 7K EL it H N 10kV 584875 55 2k 35kV T~ HH A2 FL 3983.7 419.86
B gk W S 7K BL it H A 7 10kV85081# 3k 2k 110kV 7 < B AR HL ik 7621 2201.45
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R | FREMAAT 884 5 A BEaR msal | AR
Bk W S 7K BL it H A 7 10kv8724-b 1R 2k 110KV AL U 1748 H 7621 1256.1
B | E RSk Bt A 7 10kV 84157 1 2k 110KV ] 22 A8 H il 7621 2505.8
5 78 1 WA S 7K B H A ] 10kV 8506 i 2k 110KV 7 <5 B8 A8 H 3 3983.7 1750.26
R W S 7K BL it B\ ] 10kV8814 5% A 2k 35KV 3K e AR FE 4503.3 1177.14
B o S 7K EL it B A 10kV5818 1% 1 2% 110kV 78 SR A2 HL il 7621 635
R W S 7K BL At F A 10kV5521 %K H £k 110kV I 038 Lok 5629.2 599.86
=R W S 7K EL it B N ] 10kV 540875 7K 2k 110kV JB 7K AR HL B 7621 928.88
B gk W S 7K EL it F N ] 10kVv83087F JL I 14k 110kV UL HL i 7621 2301.43
BT | RS kLt A 10kV5845 9 % £k 35kV T AR HL 3377.5 419.9
B W S 7K EL it H A 7 10kV 84185 FH m] £ 110KV i 22 A8 Hy il 7621 233
B 7 W S 7K L H A ] 10kV 5673k =) 2 35KV Iy A AR L 5629.2 704.96
=R W S 7K EL it Fe A 10kV52333C P4 £ 110kV A% 5K FE A2 Lk 7621 1938
B 7k i A S 7K L H A ] 10kV 840611 17 £k 110kV #2248 H il 7621 3809
= A S 7K B H A ] 10kV5515 74 3 2k 110kV i AL HL B 5629.2 2514.53
BT | RSk B it e A 10kV5306 )k I 11 £k 35kV S /R A2 HL gk 3983.7 327.96
B gk W S 7K BL At H 2\ ] 10kV 58743, A 2k 35KV K AL L 7621 1680
57k i R S 7K B H A ] 10kV 578854 £k 35KV g AL L 7621 1511.5
R W S 7K BL it Fi 2 10kV5529%: & 2k 110kV R AL HL ok 7621 775.2
5378 WA S 7K L E A ] 10kV5817% % £k 110kV J7 SR AR FL o 7621 1727
B o S 7K EL it B A 10kV52343C 4 2% 110kV A7 5K FE A2 Lok 7621 1319.37
BT | RS kLt A 10kV5825 7 B £k 110kV e R A8 HL vk 7621 1318
5 7k 1 WA S 7K B H A ] 10kV8109 /5 [ 1T [] £& 110kV IR AL HL o 7621 4711.5
BT | RSk B A 7 10kV 58763, F5 £k 35KV KA HL v 7621 2408
B gk W S 7K EL it H N ] 10kV8513£ 44,1 [F] 2% 110kV 71 <5 B AR L 2598.1 913.48
B gk W S 7K BL it H A 7 10kV/52401% X FE 45 110kV A7 5K ZE A2 Lk 7621 922.8
B | RSk A 10kV 541455 5 B 4 110kV b5k A HL vk 7621 1887.1
By | E RSk Bt A 10kVv58277% 1L % 110KV JE SR A2 HL vk 3983.7 1841.96
R A S 7K L E A ] 10kV5790F4 % £k 35KV R HE AL FL 5629.2 1962.05
SR W S 7K EL At B 2 ] 10kV5883 7% IH £k 35KV I AL HL U 5629.2 1142.33




20255 (=FF) BR&GBUHBHITFREERE

R | FREMAAT 884 5 A BEaR msal | AR
B | RSk B A 7 10kV 578611 I 2k 35KV P A8 L 7621 1455.2
ST | SOk B L 10kV5235%5 i+ 2% 110KV 1 5 848 L bl 7621 1527.6
BT | RSk Bt A 7 10kV 811050 F T [F1 2k 110KV A AL HL vk 7621 693
B W S 7K LA B A ] 10kv8517 - %% 2% 110KV 1 <5 B2 38 FL i 7621 976
B | RS B A 7 10kV 56653 [X £k 35kV 1 2R A B 7621 614.85
B | E RSk B A A 10kV 58753 %< 2k 35KV 4k A2 HL 7621 3485.75
B | RSk A 10kV85167K Hi 2k 110kV 7 <2 BB AR HL il 7621 40.6
B W S 7K LA B A ] 10kV578715 M | £k 35KV R HE AR L 2771.3 0.14
B gk W S 7K BL it He A 10kV578930 R 2k 35KV P A L 4503.3 0.14
= WA S 7K B H A ] 10kV 5531312 11[7] £& 110KV B AR HL il 7621 0
2 1 W S 7K B R A ] 10kV55123t T |51k 110kV g A2 LBl 7621 0
=R W S 7K EL ik Ha 2 10kV 85194 4k 111 2% 110kV 7 S B8 AR L ok 2598.1 0
B e W S 7Kk EL it B 2 ] 10kV5613%7 ZX 5 £ 110KV Ji Ji A2 L vk 5629.2 0
R W S 7K BL At H A ] 10kV5885 L% 4% 35KV 4k AL L 3983.7 0
BT | SOk S A A 10kV5819%k) 4k 110KV JE SR 22 FL 3 7621 0
E o S 7K EL it B A 10kV5882 -0 %% 35KV IR I AR HL U 3983.7 0
B o S 7K EL it F 2 10kV5106F4 % 1 [A] £ 110KV 74 4 28 H il 7621 0
B | RSk B A 10kV88133 Ji £; 35KV 3Kk R AR HL 7621 0
=R W S 7K EL it He A 7 10kV 88114 14k 35KV 37K I R AR L 7621 0
=R W S 7K EL it H 2\ 10kV530477 % H 2% 35KV 15 /K 23 A8 Lk 3983.7 0
B T W S 7K EL it H 2 10kV8706L i} 1145 110k V b U 1138 HL ik 3983.7 0
R W S 7K BL it F A 10k V530825 55 i £ 35kV 5 R A HL Uk 3983.7 0
B 1 X 22 ST 4 H A 10kV5441100 5 25 110KV i1 5242 i gl 10478.9 665.92
=R W 2 ST it Ee A 10kV5805 #1152k 110KV R4 42 HL ok 7326.6 3109.17
R W 22 ST it E 2 10kV55377K U T ]2k 110KV 5t EH A HL vk 10652.1 587.98
S | R 2 ST e 10kV5440%8% I 25 110KV 3! 5 A% HL v 6408.6 1182.38
Eery | R 2 S it A 10kV5116 7% ¥ 2% 110KV P4 A2 HL ok 10478.9 2722.02
B 24 7 W 22 ST E A 10kV51155% 3 2k 110k VI 75 42 HL il 10478.9 3019.02
S | R 2 ST 4 10kV 75461t PE V4 25 35KV G R AR HL U 7326.6 187.38
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R | PRELEAR Wk 2T A BEaR msal | AR
SR | R 2 ST A 10kV/5224 75 H £ 35KV [7e] [X 22 i 3 6062.2 1595.66
B | R 2 S it e A 10kV5636HF i 1 ]2k 110KV R & A8 HL vk 3897.1 695.98
=R W 22 ST it E A 10kV 56201 1 2k 110KV il & A2 HL ok 9058.6 290.98
B Zh WA 22 ST it H 2 7 10kV55627% i 2k 110KV IR < A2 HL ol 6062.2 711.86
S| R ST A 10kV 88155 7 £& 35kV T AR L b 7326.6 733.68
= W 22 ST it H A 7 10kV/54333d 75 2 110KV 3 7 A8 H il 5542.6 460.48
B | R 2 S it A 10kV5835F4 I 2k 110KV R 3 A2 HL ok 5542.6 1542.57
R W 22 STt E A 10kV5175F 1 2k 110kV T A2 HL 2k 6062.2 345.06
=R W 2 ST it Ee A 10kV5535 it £ 11 0] 2% 110KV 5 FAAR HL il 6755 283
B | R 2 S it A 10kv54381H 20 2k 110KV I 5248 L vk 10478.9 442.72
B 28 WA 22 ST it F 2 10kV5566 7% < 2k 110KV IR A< A2 HL ol 6062.2 995.86
B T W 22 ST it E 2 10kV/5804 K [F] 2% 110KV R4 42 L ok 6062.2 2266.76
B 7k i W 22 ST E A ] 10kV5829%% [2#4k 110KV B A8 HL il 10478.9 299.22
BT | 2 ST 2 10kV5633 45 i IV [F] £& 110KV i & A2 HL vk 5542.6 1385.98
=R W 22 ST it E A 10kV5151 [ £ T ]2k 110kV P4 4 HE AR FL 7326.6 892.08
B T W 22 ST it E A 10kV/522975 FH 2% 35k V [ [X A% L 8712.2 1197.76
ST | R 2 ST 2 10kV5514 b2k 110KV 52 348 Hi i 10478.9 1589.82
BT | R 2 A F 10kV55164/% Pt 2k 110kV 52 LA HL vk 6062.2 1482.16
R W 22 STt E A 10kV52044L T 1T £k 110KV P4 A2 HL ok 10478.9 160.32
B T W 2 ST it Ee A 10kV/584 15 FH 78 142k 110KV R4 22 L ok 10478.9 852.02
B | R 2 SO A A A 10kV5312 5 Wk 2k 110kV A 5 & i 8833.5 1265.8
B | R 2 A 10kV5635 4% Al 11 7] 2% 110KV i & A2 HL vk 6339.3 15.24
] W 22 STt E A 10kV 56264 £k 110kV Aij & A2 FL i 10478.9 1150.42
BT | R 2 X A 10kV 75490 15 2% 35KV L SR AR LU 8729.5 1.8
BV | R 2 ST A 10kV58644f1 T4 £k 35KV [H SR 1 22 HL 5542.6 602.28
BT | E R 2 ST A A 10kV5840 | 2k 110KV 40 42 L ol 6062.2 1382.36
Bk | ERZE iftd A | 10kvs512i@ L T [H14k 110KV 52 LA HL vk 10478.9 1051.42
B 24 7 W 22 ST E A 10kV5186# 5 [ ]2k 110kV T A2 HL ik 7326.6 328.78
SRR | R 2 ST A 10kV7716 £k 35kV F AR B 5542.6 2754.38
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R | PRELEAR Wk 2T A BEaR msal | AR
B | E R S A F 10kV5406:0 J7 £k 110KV i1 548 L ok 10478.9 621.51
SR W 22 ST it E 2 10kV5194 T if2#4; 110kV I 4l A2 Lk 6755 1082.85
=R W 22 ST it E A 10kV51574 5 2% 110KV P 7% A2 HL gk 6062.2 2.96
ERe WA 22 ST it H 2 7 10kV88144% M £k 35KV AL H AL HL v 8712.2 842.26
B 1 CED AL 10kV5310 47 3k £& 110KV 5 E ki 7326.6 894.58
B W) 2 ST 4t R A 10kV5559 1 H 4 2% 110KV I AR A8 Lok 6062.2 1691
B W 22 ST it He A 10kV 76434 1 2k 35kVAT: kA HL v 3117.7 68.36
B gk WA 22 ST it H 2 10kV5188fifi Sk £k 110kV T A2 HL 2k 3897.1 273.98
=R W 2 ST it Ee A 10kV586574 L1 % 35KV H IR i A2 HL g 7326.6 371.38
B | R 2 SO A A A 10kV 514841 F £k 110KV 75 75 FE A8 HL il 5542.6 453.58
B | W2 At A E | 10kvS542BH R il T (A4 110KV 5t HL ki 6062.2 740.96
R EENGI L AL 10kV7725% 3 1T [] 2k 35kV T A8 B 6339.3 383.14
B gk WA 22 ST it He 2 7 10kV551359 T A1 2% 110KV 5% SC AR HL il 10478.9 31.72
Bz | R 2 T A 10kV5147FE A 2k 110kV P4 2 HE AL HL o 3897.1 100.48
=R WA 22 ST it H 2 10kV54093T L 2#4; 110KV I 72 A2 HL vl 10478.9 277.12
B gh WA 22 ST it H 2 7 10kV/54393 2 £k 110KV il 7 A8 HL il 10478.9 677.02
B 7 1 A2 ST 4 E A T 10kV5434 )\ 5 £ 2k 110KV I8 5% 48 B vl 5542.6 904.38
R W 22 ST it F A 10kV5410/i% 2k 110k VIl 5242 HL vk 6062.2 999.56
B W 22 ST it Ee A 10kV5149P5 42 25 110kV P % A2 HL gk 3897.1 405.88
B gh W 22 ST it He 2 7 10kV5309%% 5 [+ 2% 110KV A 5 & o 7326.6 448.18
B | R 2 Rt A A 10kV55204% H1 2k 110kV 52 3038 HL vk 8712.2 82.26
R W 22 ST it F 2 10kV5123 /1 #E 2k 35KV [7g] [X A2 HL 4156.9 12.22
B T W 22 ST it E A 10kV 5807 ffi A 17 2% 35kV I A% L 3637.3 170.24
B e W 22 ST it E 2 10kV5319 7R A AR 2k 110kV A 5 & ok 6062.2 494.56
S| R 2 ST A 10kV/544430 1 2% 110KV i 5248 L ik 8833.5 239.5
B W 22 ST it H A 10kV5619 i Ft 2k 110KV i & A2 HL vk 10478.9 864.02
B W 22 ST 4 Fe A 10kV75577 % 2% 35KV P R AR HL 3637.3 147.64
B e WA 22 ST it H 2 10kV5839%% R 1#4; 110KV B A2 HL il 10478.9 841.62
S| R 2 ST A 10kV/5128Ilfi 7K 2% 35KV [7E] [X 2% H 8712.2 366.86
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R | PRELEAR Wk 2T A BEaR msal | AR
e W 2 ST ik H 2 7 10kV541 110 £ £k 110KV i1 548 L ok 10478.9 2995.72
B | R 2 S it e A 10kV55583T 11 [A1 £k 110KV I AR A8 L ok 5542.6 1676.58
BT | R A A 10kV5634 5 i L1117 £& 110KV il & A2 HL ok 6339.3 153.64
SR W 22 ST ik H A 10kV 7650 F 5 2% 35kVAE A L 6755 63.1
S| R ST A 10kV54377Kk % £ 110KV 2 A% HL i 5542.6 1249.65
= W 22 S At H A 10kV5556347 1 [H]2k 110k VI 72 28 HL il 5542.6 867.98
B | R 2 S it A 10kv52270d [X T ]2k 35KkV el [X 22 i 8712.2 105.76
B 2 7 W 22 STt E A 10kV5107 74 75 2k 110k VI 75 22 HL ol 6062.2 1412.46
B gk WA 22 ST it He A 7 10kV5110/F Hif 2645 110KV I 75 22 HL il 10478.9 120.32
BT | R 2 A 10kV 764811 75 2 35kVAT: R AE Lk 6062.2 71.46
BT | E R 2 ST A A 10kV5203 = % £ 110KV I 75 A2 HL ol 8712.2 2244.36
=R W 22 ST it E A 10kV5153 74 PH 2% 110KV 7H A5 A8 HL il 6062.2 471.61
B | R 2 ST it A A 10kV 7645/ 75 i £& 35KV AL AR R 6062.2 11.36
ERA o] 22 STk F 2 10kV/5842F FE 1#4L 110KV R 3 A2 HL ok 10478.9 2138.42
B W 22 ST it He A 10kV5828F [t £k 110KV R A2 HL ok 10478.9 19.52
B gk WA 22 ST it H 2 7 10kV5534 5t 48 T ]2k 110KV 5 FHAR HL il 7326.6 592.98
B | R 2 ST it e A 10kV510458T 9 1 A2k 110KV I P A2 HE il 8712.2 134.96
S | R ST 2 10kV5318 155 - 2k 110kV AR 55 o 3897.1 1245.78
B 1 WX 22 ST 4 H A 10kV5436.0 [HZ5 110KV i1 5242 i gl 5542.6 332.38
B W 22 ST ik H 2 10kV 880815 & £k 35kVAL T4 HL v 5542.6 1156.88
BT | R 22 ST A A A 10kV521141 T2k 110KV I 75 42 HL il 8712.2 1667.46
S | R 2 ST 2 10kV5803%F H £& 35kV I AR 5542.6 39.88
=R CEDGL L AL 10kV58677 Ik £k 35KV FH IR 142 L o 3637.3 985.64
B e WA 22 ST it H 2 7 10kV5622 4 11 2k 110KV Rij & A2 HL 3k 5542.6 986.37
=R W 22 ST H A ] 10kV 51034 #E 2k 110KV I 75 42 H il 5542.6 987.18
BT | E R 2 A A 10kV5317 K8 50 E 4 110kV AR 5K vk 6062.2 719.66
R WA 22 ST it H 2 7 10kV58265 FH 2k 110KV R A2 HL ok 10478.9 368.42
B W 22 ST 4L Ee A 10kV5158 T & 1114% 110KV 15 72 48 i 5542.6 115.68
B 21 W 2 ST ik H 2 10kV51117K B £k 110KV PG 4% HL 4676.5 1524.4
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R | FREMAAT 884 5 A BEaR msal | AR
B W 2 ST it Ee A 10kV8807 K i 3 £k 35kVAL T AL B 9093.3 2196.64
SR W 22 ST it E 2 10kV7644 | 2 JN L 35KV AT R AL Lk 5542.6 40.88
=R W 22 ST it E A 10kV/5544 3% 3L 2% 110KV 5t FHAZ HL vk 6755 211
s W 22 STt E A 10kV8816+] £k 35KV AL H AL HL v 6062.2 1368.71
S | R 2 SR 4 10kV5225 [ BE K 2L 35kV [ [X A% 7326.6 747.58
B 1 W 2 ST A A 10kV 58687874 25 35KV [ SR i 22 HL 7326.6 253.88
R W 22 ST it F 2 10kV5506%55% H 2k 110KV 52 LA HL vk 8712.2 582.66
BT | E M2 Ut A E | 10kVS51155CAR 1[Ik 110kV £2 3 A2 Hi ol 6062.2 3116.26
B | R 2 SO A A A 10kV5114% P2k 110KV I 75 22 HL il 6062.2 1938.16
B W 22 ST it H A 10kV5808F1-1- 2% 110KV R 9048 L vk 8712.2 1468.16
By | R 2 S it A 10kV5561 K F R 2% 110KV IR A< A2 HL ol 6339.3 1842.44
By | R 2 ST 2 A 10kV 7544 K F 4k 35KV P4 SR AR HL 5542.6 164.38
B | R 2 ST it A A 10kV5316-EBE 2k 110KV A 5 E v 7326.6 1212.08
BT | E R A F 10kV/ 54041 [ 2% 110KV i1 5% 4% L 3l 5542.6 621.48
=R WA 22 ST it H 2 10kV 58323 7= £k 110KV R A2 HL ok 10478.9 422.42
EgE | B R S A 10kV543 1 3 4 2 110kV il 72 LGS 10478.9 0.22
BT | R 2 i A 10kV5810%%F 1 I [m]£% 35KV BE Ly AR B 3897.1 0.08
B | R 2 SR it e A 10kV 7543/ 5 R 2k 35Kk V Pt SR AR HL 6062.2 0.06
BT | E R ST A A 10kV 5208114 Ji& £k 110KV P4 A2 HL ok 10478.9 0.02
Eger | E R 2 S it A A 10kV55235% U5 1T =] 2k 110KV 52 3L AR HL vl 10478.9 0.02
B2 W 2 ST 3t E 2 7 10k V54323 £k 110KV i 5% 48 B vk 10478.9 0.02
R W 22 ST it F 2 10kV55105% Wt T 2% 110kV 52 LA HL vk 10478.9 0.02
] W 22 STt E A 10kV5526/fF < £k 110kV 52 3L AR HL o 10478.9 0.02
B | BRI it A E | 10kv5s522i =k 1T 4k 110KV 52342 HL ok 10478.9 0.02
B W 22 ST it H A 10kV55255< BE 1145 110KV 523048 HL ok 10478.9 0.02
B | R 22 R A A 10kV5529%E %< 2k 110kV 52 3L A HL vk 10478.9 0.02
By | R 22 S A A A 10kV55095% 1 £k 110kV 52 3L AR FL o 8833.5 0
BT | 2 S A 10kV5830%f 5 i 2% 110KV R kA2 HL i 4780.5 0
Bk | R 22 R A 10kV5530 K FlAb 2k 110KV 52 SC AR HL il 8833.5 0
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R | FREMAAT 884 5 A BEE R/ ABE TR
S | R 2 ST 4 10kV5507 7Kk 2 AL £k 110KV 52348 HL ok 7326.6
B | R 2 R A A 10kV5176 F &2k 110kV I 4l A2 Lk 5542.6
BT | R 22 S AL A A 10kV 52103 FH £k 110kV 41§ 75 22 FL 5542.6
BT | R 2 A A 10kV55055% 2% & 110KV 52 SC AR HL il 7326.6
BT | R 2 A A 10kV56297K 7 2% 110KV il & A2 HL il 7326.6
BT | R 22 S AL A A 10kV5528L 412k 110KV 5% SC AR HL il 7326.6
B | R 2 X A A 10kV/5442i0 % 2% 110k VI T2 A2 HL vl 5542.6
B | R 2 A 10kV5527:L 3¢ 2 2% 110KV 52 LA HL vl 3897.1
Bk | R 22 R A A 10kV 755547174 2 35KV P4 SR A8 L 7326.6
Bk | R 22 R A A A 10kV552452 3R 2k 110kV 52 3048 HL vk 8712.2
B | R 2 A A 10kV/5815[1] L2k 35KV BF A8 B 5196.2
BT | R 2 ST A A A 10kV55155% J& & 110kV 2 3042 HL i 6062.2
Bk | ER2E nifite A | 10kvs541BH 5k 1T [ £ 110kV 57, F A48 HL il 6062.2
S | R 2 SR A 10kV5154 1 £ [T [F] 2% 110KV P4 2 22 HL i 6755
Egem | R 22 R A A 10kV5106 = & 11 ] 110KV 75 22 HL ol 6062.2
EgE | B R S A 10kV5430J 5 2 110kV il 72 LGS 10478.9
Ege | R 2 R A A 10kV540538T S 1#4& 110KV I 7 A8 H il 10478.9
B | R 2 R A A A 10kV5213 7% A 2k 110KV P4 22 HL vk 10478.9




